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Cp(CCly, solide) = 122.31 J.mol~*.°K~?

Cp(CCly, liquide) = 135.18 J. mol~*.°K~?

Cp(CCly, gaz) = 74.02].mol~1.°K™*
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AH;on  249°K, (CCly, solide) = 2677.71 J. mol™?
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M(,C) =12g mol™? ; M(4,Cl) =35.5g mol™!
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S,9g(J.mol™.°K™%) AHg¢ 59g(K].mol™ ") Cp (J.mol™".°K™")
HCI(g) 186.9 —-92.3 29.1
0,(8) 205.2 0 29.4
Cl,(g) 223.1 0 33.9
H,0(g) 188.8 —241.8 33.6
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(ccl,,s) AH, _(CCl,,s) AH,_ (CCl,,I) AHs_ (CCl,1) AH,_  (CCl,g) AHs _ (CCl,,g) O1Pt
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AH;Z% = ZviAHEi,Zgg(produits) - ZviAH;’i,zgs(réactifs) 0.5Pt
AH; 595 = [2AHf 595Cly(g) + 2AHf 595H,0(g)] — [4AH{ 505 HCI(g) + AHy 5050,(8)] 0.5Pt
AH, 595 = [(0) + (—483.6)] — [(—369.2) + (0)] = —114.4 K] 0.5Pt
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AS:‘,ZQB = [2S305CLy(g) + 2S305H,0(g)] — [4S205HCI(g) + S3950,(8)]
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AS; 508 = [(446.2) + (377.6)] — [(747.6) + (205.2)] = —129].°K™! 0.5Pt
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AH:',948 = AH:‘,298 + f ACp dT 0.5Pt
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AHj g4 = —114.4 x 103 + [[(67.8) + (67.2)] — [(116.4) + (29.4)]] x (948 — 298)
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AS; 948 = —129 + [[(67.8) + (67.2)] — [(116.4) + (29.4)]] x ln%

AS; 305 = —141.498].°K ! 0.5Pt

AGyg4g = (—121420) —[948 x (—141.498)] = 12720.104 ] = 12.720104 kJ 0.5Pt




